1.

oF& TN x4y O 3L Fob
ofet.




o]

o] A y =2x+2 9 x

k)

Fed=t,

5]

tana 4 T




% R A2 ABC of| A zA =34° &
=°| BC € Fstoeh. (F, sin34° =
0.5592, 08 34° = 0.8290 )

;%—V.l




4.

the 10
(&,

9l A

A}

N

15

ret

1&

ofl,

9

x'}

-

o1

cm

T-3tofz=t.




B

o], sin x

YA jZHd EG 7}
e xet e

olt}, -4 CE ¢+
E]

o|F%= /CEG 9

of &

o9

@ 3a

® V2a

2

=B



g 193} 2o BO = 4 A o 2474
ABC °f &JHst= 9 0 9] ¥tz &9 Aol
3L o, cosA xtan A 9] FE2?

2 V5 3
R T
@25 ©25



(8]

o5 1H Y 22 FPAFAS ABCD
oAl izt BD ¢} AC 9] w2
gt gtct. /BCD = 60°, AD = 6cm,
AB = 4cm ¥ w], AAPD 9 Yo|&
Tahof et

a = cm?

d

"U




T;"__% 1%94 J_J’éﬂﬁgj\}']{ﬂﬁé ABCD
o] Wol7t 36 V3 < w), By
¥ ABCD 9] 9|9 Zo]&?

@D 32 @ 34 ® 36

A




ohS 138 9] AABC o)A /ABH =
60°, /ACH = 45° , BC = V3 +1
A o, AH ] do]& x 2t 51 x? =
-5t ?

D 2.2 @ 3 3 35

600 o

050" 457N,
- /34177

@ 4 ® 4.5



10. the Athelzo] Yo uhE

A7

@ 50V3 @ 523
® 543 @ 563
® 58V3




